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o(H,0) =B mol =10 L 615
Ac - 30 s
1)250 .L_I .S_]o
1. 4
:’U( NHQ) ZFX
0.0015 mol * L™ +s7' =0.0010 mol » ™" « 5!
° v(0,) = % x 0. 0015 mol *« L' « s7' =

1 4NH,( g) +50,(g) ==4NO( g)

+6H,0( g) 10 L
0.0010 mol * L.™" = 57",

0.00125 mol * L™" +s™" »( NO) = o (NH,) =

0.45 mol
o(1) ( ¢
) (e v=ge
A.o(NH,) =0.010 mol * L™" « s~
B.»(0,) =0.0010 mol * L.™" *s~! ( )
C.»(NO) =0.0010 mol *+ ™" « s~
D.o( H,0) =0.045 mol + 1" + 5" )
> . N
3 o( Mg”")
=2 mol * L™" ¢(S0O;") =6.5 mol « L'
200 mL Mg’ " A"
1.6 mol » L™ ( ) o o
A.0.5L B.1.625L C.1.8L D.2L 4 : NaOH.
Au,0,.Na,S,0,. Na,S,0,. Au,0. H,0,
Na,S,0,
“ 7 Na,S,0, Cl,
H,S0,. NaCl  HCI
?
2¢( Mg’") +3c( AI'") =2¢(S0%7) c( AI’")
=3 mol L' n(Mg’"): n(OH") = S CS +2 +6
1: 2 n(AI'"): n(OH™) =1: 4 cl o -1 x oy
. . ( 12015 - 12 -25)
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2.
2 A+3B=2C+2D
@w(A) =0.15mol * L™ = 57!
@w(B) =0.6mol * L'+ s
@w(C) =0.4mol * L'+ 7!
@w(D) =0.45mol + L' = s
( ) o
A@®>3=2>0O B ®@®<®=2<O®
CDO>@>3>® D@D>B>®2>D
A
A e
v(A) =0.6 mol * L' ¢« s7'/3=0.2 mol « L' *
sh® v(A) =0.4 mol « L™ «s7'/2 =

0.2mol * L™ e s (@ v(A) =0.45 mol
L' es'/2=0.225mol * L™« 57",
@D>B=2>D. CA

(
1 )
3.
3
1
V 1 a-b-c-d
( 1) ( ) o
g 4 (HC1)§1 H
ZH. ?IHL}){_Z‘ AL
a B o) jc K&
7 1 2.0 25 Helk
2 25 30 Hulk
3 2.5 50 Huk
0 7 4 25 30 MK
1
A.4-3-2-1 B.1-2-3-4
C.3-4-2-1 D.1-2-4-3

.2].
3>4=2>1, 4
3>4>2
>1 4>3>2>1,
ca>b>c>do cALC
4.
4 2 2.0
800°C  A.B.C 4
(mol + L") L2
C
l B
0.4
° 2min 7
(1)
70 2
(2) 2 min C
2 2 min A 0.8 B
0.4 C 1.2 A B.C

o Ac(A) : Ac(B) 1 Ac(C)
=0.8:0.4:1.2=2:1:3
2A=—=B +3C.
(1) 2A==B +3C

. -1
° min

(2)0.6mol * L'
(1) o
(2) °
(3) o
( )
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